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1) 7,654 + 16.8 =
2) 23.01 – 11.9 =
3) 124 x 5 =
4) 343 ÷ 7 = 
5)  +  =
6) 0.91 as a percentage =
7) 1921 ÷ 1000 = 
8) 3 + 3 x 3 = 
Daily Practice – 5
1) 12.01 + 7.2 =
2) 5,008 – 1,876 =
3) 27 x 86 =
4) 624 ÷ 6 = 
5)  +  =
6) 64% as a fraction =
7) 0.876 x 1000 = 
8) 2 x 6 x 3 = 
Daily Practice – 4
1) 1,098 + 5,389 =
2) 678 – 139.08 =
3) 352 x 73 =
4) 742 ÷ 2 = 
5)  +  =
6)  as a decimal =
7) 78.2 ÷ 10 = 
8) 10 – 3 x 3 = 
Daily Practice – 3
1) 4,231 + 5,890 =
2) 56.7 – 28.18 =
3) 76 x 19 =
4) 628 ÷ 4 = 
5)  +  =
6)  as a percentage =
7) 0.98 x 10 = 
8) 3 + 2 x 5 = 
Daily Practice – 2
1) 871.9 + 1,075 =
2) 5,098 – 4,874 =
3) 123 x 35 =
4) 261 ÷ 3 = 
5)  +  =
6) 0.14 as a fraction =
7) 156 ÷ 100 = 
8) 3 x 6 x 3 = 
Daily Practice – 1
1) 1,276 + 3,897 =
2) 7,632 – 2,875 =
3) 53 x 25 =
4) 565 ÷ 5 = 
5)  +  =
6) 75% as a decimal =
7) 23.4 x 100 = 
8) 4 x 5 x 2 = 
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